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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,032 86,072 41,033 45,039
RIRET1T 6 15 9 6
RIRET2T 26 56 26 30
AIEET3T 184 591 288 303
RIRET4T 399 959 476 483
B 615 1,621 799 822
REH 2,690 6,026 2,799 3,227
L&A 4,326 9,440 4,385 5,055
5E 2,650 5,907 2,859 3,048
B AN 1,297 2,832 1,331 1,501
BERT 1,378 1,945 954 991
BER2T 769 1,367 663 704
BERST 650 1,537 738 799
B 2,797 4,849 2,355 2,494
BEXRE 278 649 315 334
= 2,200 4,938 2,346 2,592
hERE 643 1,424 658 766
e 2,470 5,064 2,442 2,622
25 L ET 2,337 5,083 2,425 2,658
B &AL BT 76 151 63 88
HEFILET1T 557 1,198 558 640
HEFILET2T 622 1,295 610 685
HEZFILAT3T 649 1,477 726 751
g 1,904 4,121 1,957 2,164
B & it B Fr ET 689 1,549 751 798
BHEREBET1T 581 1,167 565 602
BHERERET2T 767 1,739 835 904
BHERERETST 783 1,592 721 871
BHERERET4T 515 949 452 497
HEKERETST 835 1,679 799 880
HEERET6T 871 1,885 914 971
BHERERET7T 889 1,870 930 940
HERERETST 70 206 102 104
£t| 5311 11,087 5,318 5,769
HEF R FET 1,978 4110 2,002 2,108
S|EFET1T 628 1,580 789 791
S|EFET2T 770 1,739 817 922
S|EFET3 T 737 1,386 638 748
g 2,135 4,705 2,244 2,461
ERE1T 580 1,312 632 680
EIRET2T 388 1,030 514 516
EREIST 513 1,334 652 682
EIRETAT 690 1,457 645 812
EIZEIST 529 1,108 563 545
g 2,700 6,241 3,006 3,235
ME A 2,905 6,229 2,951 3,278
J\THET1T 33 35 13 22
J\THET2T 24 54 28 26
J\THEI3T 50 108 49 59
B 107 197 90 107
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